I # K s i HiJ Hr &} %f R
g iE Al s iE #
(AT W)
el
ORI, AM3E4A 1 BT 5,

SRS 1 GIEZ ‘
S 2 () B 2 } (il )




BEFH L GB350 2 BR)
A4 TR ANFEE N E B

K e AN Ny 120 480
S N SR 220 880
BB D HER TR 60 (10) 260
s il 330 (10) 1, 340
TR 7D TR B A 240 (20) 1, 000
P PR 311 1, 244
e S 107 642
TR BE R 100 [17] 451
EHa 207 [17] 1, 093
ERE Sl SRR 65 260
245
R 15 120
135
i 80 380
TR HER T 22 F) 185 740
it ST 80 320
W)L T SRR 235 940
ERE T LyE 130 520
(R &= 90 360
TR 235 940
Gl 955 3, 820
=Sl G E R R 94 376
s A= bR 47 188
it R B LR 37 148
BEE - BREERH TR 32 128
R R 57 228
& in R R 33 132
G 300 1, 200
KaFT 2, 823 [17] (40) 11, 697
§5) ANFEBD [ ] 2 LebDiF 2FRMATFER THME, () 2 L7 bDid 3E R

ANFER THL




BIZRE 2

1 KBe (853 5 5:B4R)
Ea L% IR AR o NN =y
IR A PR O Y e b W o (Sl
ANFEBR |WNEEB|ANFER | INEEB | ANFER | INEER H
SCEEMRZERR U S bR 33 6 6 18 54 — — 385
ARSI 20 40 11 33 — —
V& B SO R 20 40 11 33 — —
TEN S LSRR 18 36 10 30 — —
N AV (e 3= Ny 9 18 5 15 — —
AR « NA T 10 20 — — — —
LUL 7 KRR E R
N A bl B
Ha 110 220 55 165 — —
HE W SR BRI 42 8 4 25 75 — — 159
ek
TESIFIERE PEBCEE R B 21 42 24 72 — — 114
1 T SURR I SRR 70 140 25 75 — — 215
Bt Q94 234
PR R B - BB AT R 52 104 20 6 0 — — 1, 134
124
B - FH YR 81 162 48 144 — —
HER 22 B R B 50 100 25 75 — —
LRI 61 122 32 96 — —
EY R RLIL 74 148 41 123 — —
s 318 636 166 498 — —]
=R BRI — — — —1 166 664 975
568 944
YRRt Yy 20 40 15 45 — —
SRR S R B — — 12 36 — —
124
R - R E 70 119 25 55 — —
15q 49/ 93 15 45
e NE I V¥ — — — —] 4 16
KET ) WEZE 12
BB B L
HE 90 159 52 136 170 680
69 3133 49 124
AR BRR SR 50 100 22 6 6 — — 275
P S BRI — — — — 15 60
= LA Rl fE R 14 28 7 21 — —
LI
s 6 4 128 29 87 15 60




WFERLA, o &L % R AR S v é\gﬂggﬁ
ANFER | INAEEB | ANFER | INAER | ANFER | INAER =
TAARSER s s TR 58/ 116 17 51 — —1, 967

RSN RN 57, 114 17 51 — —

B TER BT LR H I 36 72 10 30 — —
LRI 75| 150 22 6 6 — —

AR T2 5 59/ 118 16 48 — —
~Afr/nTY= 30 6 0 7 21 — —

T T

WiZe 5 L7 RIK 24 48 7 21 — —

I K% T 2RI 23 46 9 27 — —

(s e A R 38 76 10 30 — —
CERRE S hY g 38 76 10 30 — —]

- TR 35 70 10 30 — —
MR 29 58 9 27 — —

W 1L ¥ —1k 39 78 11 33 — —

Oy F LI 35 70 10 — —

im0 TR 6 92 15 45 — —
N/ (a3 2 6 4 10 0 — —

g

b LRI 34 68 7 21 — —

Gl 6881, 376/ 197 591 — —
TR R R 33 6 6 8 24 — — 876
FRAEL B 48 96 17 51 — —

s A= B B 63 126 17 51 — —

I AL 52 104 17 51 — —
el B 452 B B 50/ 100 15 45 — —

A IR B 24 48 8 24 — —

e

A AE R I 33 6 6 8 24 — —

G 303 606 90/ 270 — —
UNGRE: s ae et PN eIz N 69 138 28 8 4 — — 532
ki A ST R 57/ 114 25 75 — —

FH B BR B e 38 76 15 45 — —

G 164, 328 68 204 — —




&L R 7% HH AR [ ALy g
ﬁ%%;{»% %Iﬁ% P2 ae=d =] L = P = = ae=a=] mn+l§ﬁ/£
ANFER |INFEB | AFER | NAEB | ANFER | INAEER =
T %L X T R . 29 58 12 36 — — 365
Bl BREEAL SR
T )L — JL R 42 8 4 12 36 — —
FRLIL
T %L — S HA 25 50 4 12 — —
FRLIL
T L — s R 34 68 7 21 — —
Ha 130 260 35 105 — —
TUT T 7T YT AT — — — — 10 50 150
U 77 Hi Sk AFSE R
FeAFgER |7 7 U sk aF g — — — — 12 60
LI
7' — 3L BT —] — — — 8 40
JERLIL
Ha — — — — 30 150
(& 5 BIF FEENRE 1 R BT 37 7 4 15 45 — — 558
f o R 36| 72| 14 4 _ .
Ve Sy S K=y 20 40 6 18 — —]
KPR TR BRI 22 4 4 6 18 — —
VAT ARFELI 32 6 4 8 2 4 — —
HETHHRY AT A 42 8 4 11 33 — —
B
s 189 378 6 0 180 — —
E B A A B R R ELIL 40 80 19 57 — — 249
pALEN
s iy = R R 35 70 14 42 — ]
it 75/ 150 33 99 — —
I N e e ATy e XE 3= NTg — — — — 20 100 100
g
HiER BR BE I ERER B B IL — — 13 39 — — 148
o
G ERE~ R AL b 44 88 7 21 — —
LI
s 4 4 88 20 60 — —
TR PR R R R — — 7 21 — — 21
Bk
st 2,308/ 4, 595/ 886|2, 638 235 990 8, 223
2 92974 574 Q74692 g4 89211




2 EMORERE - IERRFBE (355 35D 2 5 5 THRIR)

oy - EA S A v _
treE S e E TR 160 480
= A e rE R RR R B 34 68
NLBORBET (A ILBORHK 40 80
A HBER R I 100 200
(o 334 828




	【新旧】通則 （R3.4.1）
	修正【別表】通則（R3.4.1）

